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6.1 23.2 31.2 229 23.0 23.9 255 328
HUET)NE HYEENE g et sz/M2E Ratalna g E I E T HYET)NE ol (BE Hie))
23.4 21.2 7.6 19.8 (32 Hiel) 23.4 21.8 285
23.0
71/ A0 S o HHETINE e o s Mg e JEATOINSRE /AT BRE
221 (32 H2l) 25.3 o= Hi2l) 23 23.4 213 20.4
161 19.8
T /e MIAfR o T ZH/4MALR] T ZBH/ANA2] T st/ MIALR) T4 Zrt/e4MIALR]
AT o ADIEZ/ADIE 7|7 HZEZ)AZ - o o
o= xlel) e =2 xlol) EE eV BEDINE = xlol) =2 Hjo)) =2 mlel)
20.7 ’ 245 : : 22.9 20.5 17.2
| | all
olEjzio] AZ ADEE/ADIE 7]7] M BRE o T oroles T SN QlEj2io] AZ olEzio] AZ I
12.9 13.0 19.7 sonss s e 18.2 13.4 16.3 17.2

10.4

[Base: 22 17H& LH 202 0§ Hekdt Xt N: MA|=870 | &f=392 | 01=478 | 10CH=96 | 20CH=148 | 30ci=201 | 40CH=239 | 50CH=186, ZiEt4| 5=, th2l:%]
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